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https://www.100test.com/kao_ti2020/473/2021_2022_OG10_E8_A

F_AD_E6_B3_95_c67_473191.htm 49. The cameras of the Voyager

II spacecraft detected six small, previously unseen moons circling

Uranus, which doubles to twelve the number of satellites now known

as orbiting the distant planet A. which doubles to twelve the number

of satellites now known as orbiting B. doubling to twelve the number

of satellites now known to orbit C. which doubles to twelve the

number of satellites now known in orbit around D. doubling to

twelve the number of satellites now known as orbiting E. which

doubles to twelve the number of satellites now known that orbit 1．

非限制性定语从句（一级排除A,C,E） 非限制性定语从句

which 指向前面的名词(这里是不是指前面的这件事所以不能

用which?) 现在分词在句末表示伴随 2．词法 ：A as B，Ａ/B 

对应。 Known to orbit 比 known as orbiting ⋯ 好。 100Test 下载

频道开通，各类考试题目直接下载。详细请访问

www.100test.com 


